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• 
1. The arrangement of Carbon atoms in diamond is 

2. 

(A) Regular Hexagons ~ Tetraheura. 

(C) Pentagons 

LiA1H 
Ar- COOH --4H=-4~-ArCH20H 

What is the type of above reaction? 

(A) Oxidation 

(C) Hydrolysis 

LiAllI4 Ar -COOH --4H--''---ArCH20H 

(A) 45Wl2ij~!f>!Dtb 

(C) .£11rrrt>ueu'-l 

(D) Octahedral 

pf' Reduction 
• 

(D) Dehydration 

(B) ~~612ij6isr f;)@Mitb 

(D) 1'rr .£Mitb 

3. Which one of the following relationship is correct? 

(A) 

(A) 

(C) 

1 
pH=-

[lr] 

(B) 

(D) 

3 

pH= loglO [Ir] 

1 
pH= Iog10 [lr] 
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4. Match the following : 

(a) Metabolism 

(b) Oxidative phosphorylation 

(c) Auxins 

(d) Photolysis of water 

(a) (b) (c) (d) 

(A) 2 3 4 1 

(B) 4 2 1 3 

Jll{'a 1 4 2 

(D) 3 4 2 1 

Gurr®P,~a; : 

(a) 6\JQTrr61m~ LDITJD!DLD 

(b) 4.$G>nS'l~C:mJi> £!) LI rrwu rr Bil]'QIDTLD 

(c) 4 .$ronSlma;Gir 

(d) ,ffirflm ~61flt:aSlQT~p;"1> 

(a) (b) (c) (d) 

(A) 2 3 4 1 

(B) 4 2 1 - 3 

(C) 3 1 4 2 

(D) 3 4 2 1 

LTGS/16 

1. 

2. 

3. 

4. 

1. 

2. 

3. 

4. 

Respiration 

Photosynthesis 

Sum total of enzymatic reactions 

Growth 

Bf6\JIT6LD 

~61fl~fr6;ma; 

G.ffirr~615lmma;aflm BiLL..@P, Q~rrma; 

6\J QTrT 661 
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• 5. Insulin is secreted by this cells of pancreas 

(A) a -cells , P-cells 

(C) r -cells (D) T-cells 

(A) a -Q.%be;'1r 

6. Mary Mallon who known as Typhoid Mary and her profession was a 

(A) Fisher woman (B) Store keeper 

(C) Nurse J1' Cook 

(A) i,6QTQJir 

(C) Q.ff'61QSl ,-,rnu (D) cffl>lD1UQ>5rrr;rr 

7. Which among the following Indian states has the longest coast line? 

(A) Tamil Nadu l/llf' Gujarat 

(C) Kerala (D) Andhra Pradesh 
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II 

8. The Bezbaruah committee deals with the concerns of the people of 

(A) North-East living in other countries 

(B) North-East living in their respective states 

IJilf' North-East living in other parts of India 

(D) North-East living in South India 

(A) ~lUQl)DITLLirru QJIT@LD QJL- .i'lw8i® wrr.ffilQ)~~QJrrs;m Jl)Q>Q>QT 0uQl5T 

(B) QJL .ilw.$® lDIT.$1TQl8T~l>lC:Q)C:UJ QJIT@LD QJL- ilw&® lDIT~Q)~QJrrs;m Jl)Q)Q)QT C:uQ!eT 

(C) ~,!b~UJrr6:61G\> i5l!J> LDIT.ffilQ)riJ&lilflro QJIT@LD QJL - .$l~li@) wrr.ffilru~QJif]Qr jbWQIQT C:uQ!eT 

(D) G~~ ~,!b~UJrr6l51ru QJrr@ili QJL - £lw8>® wrr~Q)li>11>QJifl~ JDWL.b a;rrQSeT 

9. National voters Day is observed on 

(A) 28th January IJlf' 25th January 

(C) 19th January (D) 17th January 

C:~UJ QJITMITQTfr l>lQTLD o$Q)Li5llq.Muu@QJ~ 

(A) 28~6GTQJ61 (B) 25 ~QTQJifl 

(C) 19 ~QTQJifl (D) 17 ~QTQJif\ 

10. When was the National Youth Policy (NYP) introduced? 

(A) 2011 

(C) 2013 

(A) 2011 

(C) 2013 

LTGS/16 6 

(B) 2012 

JJ1f 2014 

(B) 2012 

(D) 2014 
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• 
11. Who is the chair person of Governing Council of International fund for Agricultural 

development? 

(A) Rahul Varma 

(C) Dutt 

(A) IJIT@)Q> QJrTLDIT 

(C) ~ 

12. The Book "Flood of fire" was written by 

(A) Ashutosh 

IJlf' Amitav Ghosh 

"Flood of fire" '1"GSt!!) ~Q)Q) ""@~lLIQJir 

(A) ~~LIT~ 

(C) ~i.6l~Qi Ga;rrw 

iJ1f' Dinesh Sharma 

(D) Mithun Varma 

(B) ~GQIT~ c'frTLDIT 

(D) t.61~ GSl QJ tTLD IT 

(B) Abdul Majeed Malik 

(D) Mohan Rao 

(B) ~u~Q) LD~Pi LDIT'61.$ 

(D) GLDITaiQr IJITQJ 

13. The Climatic region of the Indian sub continents belongs to 

(A) Equatorial climate change region 

(B) Hot desert region 

Jltll/' Monsoon region 

(D) Mediterranean region 

(B) QQJUU UITQ'lQ)QJQT LDQsrLQ)Lb 

(C) U®QJailTQ) LD.LQ>Lb 

7 LTGS/16 
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14. IAEA stands for 

Jiii' International Atomic Energy Agency 

(B) Indian Atomic Energy Agency 

(C) International Agricultural Exchange Agency 

(D) Indian Aeronautical Engineering Administration 

(A) International Atomic Energy Agency 

(B) Indian Atomic Energy Agency 

(C) International Agricultural Exchange Agency 

(D) Indian Aeronautical Engineering Administration 

15. Which one of the following pairs is correctly matched? 

(A) Teak- Jammu and Kashmir 

(C) Sal - Kerala 

(C) arr'1> - Gs;IJ'QTIT 

(B) Deodar - Madhya Pradesh 

Jl"f' Sundar~ - West Bengal 

(B) ~GUJITLJT- wUJUJ LSll]C~atb 

(D) Br.ffitbrrl - GwJi>® 6Uri.Js;rrirrib 

16. The major zonal soil type of peninsular India belongs to 

Jtllf' Red soils (B) Yellow soils 

(C) Black soils (D) Older alluvium soils 

(A) 51Qluy w~ 

(C) a>Q!)uy w~ 

LTGS/16 8 
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• 
17. ----- revolted in the Deccan against Shahjahan. 

(A) Prince Pervez (B) Shahryar 

(C) Asaf Khan JJllf Khan J ahan Lodi 

(A) @GIT6l.HJ6r'r GulTCGtJb\ct (B) 6rTlLJrT 

(C) ~6u 8irrm 

18. What was the occasion for the Portuguese making over Bombay to the British? 

(A) Growth of p~aceful relations between the English and ~he Portuguese as a result of 
Portugals independence from the Spain 

~ The marriage of Charles II with the Portuguese princess Catherine of Braganza 

(C) The defeat of Spanish Armada by the British in 1588 

(D) The treaty of Madrid concluded in 1630 

(A) wGuuS"!QlflLuSl@~§J 6'61@~61lQ) Guf!>!D Currir68.s;~Lm t91flL.~~ .g-;C!Ps; ~!J)Q'lGtJ QJ6TTrT~~.$ 

Q 8ilT GlrQJ ~ f!>a; IT a; 

19. In which year, the work of the railway line from Madras to Arcot was commenced? 

(A) 1853A.D 

Jll!f' 1856 AD 

(A) £ .& 1853 

(C) £.t.Sl. 1856 

9 

(B) 1854 AD 

(D) 1857 AD 

(B) .$1.& 1854 

(D) .$1.t.Sl. 1857 
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20. The President's rule in a state can be imposed initially for 
parliamentary approval. 
(A) Three months (B) Two years 
~ Six months (D) Nine months 

• after the 

~® LDJT.lli'ro)'b~ru (§tq.UJIJ~ ~Q)Q)QJIT ~L..§l ~IJtbu)'btbJru UITIJIT~LDQJ!D ~ULl~~LQJ ----­

dirTQ)~~!i>® "61~Bie;uuLQlrrtb. 

(A) eYlQJll)J LDIT~ffile;m (B) @1J•@ ~·@e;m 
(C) ~ LDrT~ffila;6lr (D) ~Qiu~ LDrT~ffile;m 

21. Which one of the following Tax was given a constitutional status m through 88th 
Amendment Act 2003? 
(A) Income Tax Jlilf' Service Tax 
(C) Professional Tax (D) Corporation Tax 

L.SlQi61..1(!9tb QJif\e;Qflru ~fe$f> ~Qlll)I 88 ..... .::!9!1J6lUJQ)Q)lDLJL1 fl!®~" 8'LLLD 2003-m ePQ)tb .::!9!1J6l1LJQ)Q)lDUL1 

.::!91fe~w~6W'lmu Gu!f>w~? 
(A) 61..l@LDrrm ruifl (B) G6Qlru ruitl • 

(C) G~rr~ru 61..1rr1 (D) Jb)gM6Um 61..1il1 

22. Match the following and select the correct answer : 
(a) Shah Nawaz committee 1. To identify the socially educationally backward class 

(b) Kaka kalekar commission 2. To enquire into all excesses during emergency 
(c) Shah commission 3. To investigate the demolition of Bahri masjid 
(d) Liberhan commission 4. To enquire the death of S.C. Bose 

(a) (b) (c) (d) 
(A) 4 2 1 3 

Jlllf' 4 1 2 3 

(C) 2 1 3 4 
(D) 3 2 1 4 

£w ru@urum6UJi>6W'l!D Gurr@P,~ eiflUJrrm "61"'Lmw G$f>iTQ.j Ga:ti.J5 : 

(a) QlflT Jf>6UITW (§Qg 1. 8'C!J>di lDlDg)llD a;'°"6) "~uSl'° L.S)Qi $f>r&!.$lUJQJrr5Q>QT B;QarL!Dl$f>"" 

(b) a;rra;rr Ga;rua;fr ~Q>6115l'UJtb 2. Gp>@Bia;~ Jb)mQ)uSlQ! Gurr~ ,mmd;;luJi>!D .::!91~~ WJDlii>E!imQT 

"61 a:rr IJ"' 61151' Ge: ti.J UJ 

(c) QlflT ~g)QliDTUJW 3. urrurr LD~~ iJLct-uLSlmm "61a:rrl]Q>QliDT Qa:ti.Jw 

(d) ~ul]rrQi ~Q)6115l'UJLD 4. e;urr~ a:[b~IJ Gurr~m LDIJ'QST'P,m$f> 615le:rrl]6'1QliDT Ga:ti.JUJ 

(a) (b) 
(A) 4 2 

(B) 4 1 

(C) 2 1 

(D) 3 2 

LTGS/16 
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• 
23. Match List I with List II with regard to appointment power of the President 

List I List II 
(a) Members of Finance commission 

(b) Members of Election Commission 

(c) Members of Union Public Service Commission 

(d) Members of Scheduled Caste Commission 

Code: 

(a) 

(A) 4 

JJill!' 4 
(C) 3 
(D) 3 

(b) 

1 
1 
2 

2 

(c) 

2 
3 
1 
4 

(d) 

3 

2 

4 

1 

1. Article 324 

2. Article 338 

3. Article 316 

4. Article 280 

®Lq.lUIJ"BiP> ~Q)Q)QJ6)Qr ~lULDQT c!91~c'li1Tl}"ri.Jc'limm uJi>JDlUJ ULLq.U.Jro I LD!f>!!)Jtb ULLq.U.Jro II-ro fLm-QTQ.JlDQ'l!D 
Gurr®P>~a;. 

uL1.q-U.Jro I 
(a) ~~.i®@ElS!m lL!!)lut9QTrrs;m 1. 

(b) a$bn-~ro ®@GlSlm lLgi1ui.Slmrra;ro 2. 

(c) LDt»~UJ Gurr~uuQl!fl ®~ rLgitut9mrra;m 3. 

(d) c:!91LLQJQ)Qn"UULLq.U.Jro 61T~a;@j@QS1Qr fLJ:o!Ut9mrrs;m 4. 

(a) 

(A) 4 

(B) 4 

(C) 3 

(D) 3 

(b) 

1 
1 
2 

2 

(c) 

2 
3 
1 
4 

(d) 

3 
2 
4 

1 

uL1.q-U.Jro II 

i.Slifl~ 324 

t9nl~ 338 

i.Slifl~ 316 

t96l~ 280 

24. Who has the authority to decide a case of defection? 

--

JtJtll" The speaker or chairperson of the concerned house 

(B) The party leader of the concerned house 

(C) The election commission of India 

(D) The party whip 

s;L..fil~p;rrQJQ> ®!61P>~ QPLq.QQJ@8;®Lb c!91~c'lirrgtb fLroQTQ.JrT U.Jrrrr? 

(A) 61.bUJb16LIULL c:!9161lQJuS1Qr 1661lQ)QJrT c:!91roW~ B'UITpilTU.Jc'lirT 

(B) 61.bu.!bp;uuLL c:!91mQJuS1Q> lLmm a;L._.fl"mrururr 

(C) .@fe~UJ ap;rrp;ro .!{bQl~lUl.b 

(D) c'liL.fl Qa;rrJDLIT 

11 LTGS/16 
[Turn over 

www.u
ps

cs
tu

dy
m

at
er

ial
s.c

om



25. What is the percentage of FDI allowed in Pharma industry in India? 

~ 100% (B) 51% 

(C) 60% (D) 48% 

@lb~ UJ rrG)S) ru LD(l9lb§) e;t.OQu~Bi®.9; corru 6l..J QTQj a:p;G)S) .$1 fh t.O ~)i;.ffi)UJ 

~WJLD~Bie;uuL.@mm~? 

(A) 100% (B) 51% 

(C) 60% (D) 48% 

26. Rangarajan committee relates to 

(A) Banking reforms 

(B) Share market reforms 

~ Disinvestment of public sector units 

(D) Industrial Licence 

(A) 6l..lri.J.i16irp;f)®;,~t.0 

(B) uri.J® a:fiJmfh Sir;,f)®;,~t.0 

(C) Qurr~;,~m!D .ffi1W6U~ri.J.!6mlm C!Pfb@L.mL ®mlD~fhru 

27. Which one is called a fourth sector? 

(A) Agriculture sector IJlff' Information sector 

(C) Industrial sector 

LTGS/16 12 

(D) Service sector 

(B) p;e;ruru ~oo!I> 

(D) Ca:ooQJ ~"6l!D 
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• 
28. Some formerly higher income and high growth states now weaken growth in the 11th Plan, 

most prominent of which are 

(A) Karnataka and Kerala 

(B) Tamilnadu and Andh1·a Pradesh 

(C) Andhra Pradesh and Karnataka 

JJit'f' Karnataka and Tamilnadu 

61ru LDrr.ffilruri.Je;lir (ltlQTLI ~~s; 61JGTTir661 LDti>!OJLb ~~e; 61J@L.OrrmLb Qs;rr61iML~rrs; @®Ji;~6UT ~mrrru 

11 .. 11 ~L.L s;rrQ)~~ru ~~Q'I G1Jrorr661 ®Q)JD,!i>~lirm6UT c::!91Q)G1Js;6Tr 

(A) e;irp>rrLe;rr LDti>!OJLb Gs;rrmrr 

(B) ~t.6lwJJ>rr@ l.OJD!OJLD ~~1Ji5lrrG~s:Lb 

(C) ~~IJ i5lrrG~s:Lb LDfi>gJJLb e;irp>rrL8>rr 

(D) e;ir.rr>rrLs;rr LD!i>to1Lb ~t.6lwp>rr@ 

29. Under whose recommendation Rural Credit of RBI was handed over to NABARD? 

~CRAFICARD (B) NARIMANN 

(C) SCHELEGAL (D) BENCH MANN 

IUIT@>Q)LIU ufilJI>~mf}"uS)Qr ~~UUQ)LuS)Q, file:rr6i.J 61Jri.J.$luS)Q'I OO"IJB;.$ s;Lms;6fr ~Q)QT~~LD piUrrlh.: .. 

61Jri.J.$l.$@) LOITWIJJUULL~? 

(A) .$lrJrri5l.$s;rrrrL. (CRAFICARD) (B) p>rrfilt.0Q'I (NARIMANN) 

(C) 6fOQ)s;6fr (SCHELEGAL) (D) Qu6isr6Qt.06isr (BENCH MANN) 

30. The Second session of the Indian National Congress was held at 

+­
+-

(A) Madras Jlill!' Calcutta 

(C) Bombay (D) Delhi 

(A) QLOL.IJ"rr6iu 

(C) uLburru'..J 
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(B) s;rua;~~rr 

(D) Quu"51 
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31. Kattapomman was hanged to death at Kayatharu in the year 

(A) 1769 

(C) 1789 

(A) 1769 

(C) 1789 

(B) 1779 

Jlllf'1799 

(B) 1779 

(D) 1799 

32. Subash Chandra Bose set up Indian National Army Head Quarters at 

(A) Nepal and Rangoon Jlllf' Rangoon and Singapore 

(C) Singapore and Tibet (D) Tokyo and Nepal 

33. Which of the following party was in power in the UK when India got Independence? 

(A) Conservative party (B) Socialist party 

~Labour party (D) Liberal party 

• 

@Ji;~UJrr ~fr,f)1111:i o::!91~LJT>$f> Gurr@~ £wS.Bi~L ~116lUJru a;L.6la;rotG> ~ftP">Si a;L...61 @r6.J~61lrrJiif;ru 

~L.6luSlG> il®.!i>~~? 
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• 34. If 30% of a = 60 then find a 

(A) 200 (B) 50 

(C) 250 (D) 100 

a-ar 30% 61"Ql'u~ 60 ~~ru a.-Ql' LO~u4 

Jiii' 200 (B) 50 

(C) 250 (D) 100 

35. 3 2 1 
2-+2-+1-=? 

4 3 12 

(A) 
33 

(B) 
66 

104 104 

Jll!f' 99 
(D) 1 

104 

23 22 1 1 . ~-- + - + --m lD u4? 
4 3 12 

(A) 
33 

(B) 
66 

104 104 

(C) 99 
(D) 1 

104 

36. A can do a piece of work in 10 days and B can do the same work in 12 days. How long will 
they take to finish the work, if both work together? 

--

(A) 6 days 

(C) 7 days 

Jlllf 5 ~ days 
11 

(D) 8 days 

A 61"QrUQJir 51® CQJmQ>mUJ 10 }I>ITLaiafl~o GiJu'..Jtl,!Drrir. ~Gp; CQJmQ>mUJ B '1'QrUQJir 12 }I>rrL..a;QflQ.> 

Qs:u'..J.$1,!!)rrir . .@(!!)QJ@LD Gs:irJ,b~ ~Gp; C6l.lmQ>mUJ Qs:u'..Jp;rrQ.> ~;ipifif>611T Jl)ITLa;aflQ.> (!P~Liuir? 

(A) 

(C) 

15 

(B) 

(D) 
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37. If the sum of a rational number and its reciprocal is ~ then the number is 
6 

(C) 

(A) 

(C) 

2 3 
- or -
3 2 

5 2 
- or -
2 5 

2 . 3 
- ~Q)Q)~ -

3 2 

5 . 2 
- ~Q)Q)~ -

2 5 

38. Complete the series. 

AZ, GT, MN,---~ YB 

(A) SK 

(C) SH 

(B) 

(D) 

(B) 

(D) 

.!. or 2 
2 

2 7 
- or -
7 2 

1 . 2 2 ~Q)Q)~ 

2 . 7 
- ~Q)Q)~ -

7 2 

(B) JH 

(D) TS 

AZ, GT, MN, ---~ YB '1"WJD 6l.Jit16f>e:Q!)lU .ffi!Q!)JD~ Ge:u'.J. 

(A) SK 

rj1/' SH 

(B) JH 

(D) TS 

• 

39. The ratio of two numbers is 4 : 7. On subtracting 10 from each number, the ratio becomes 
1 : 2, then the greater number is 

(A) 40 

(C) 80 

gsf 10 

(D) 100 . 

.@® '1"~&m1m GDl.$l~Lb 4 : 7. V>GiJGaJrr® '1"~~rol®.ff>~Lb 10-mB; &WlNirrro .$16f)L.$@Lb €61.$115Lb 1 : 2 
G;T~ro .@® '1"~a;Q°ftru GunlUJ G;T~ '1"~? 

(A) 40 

(C) 80 
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• 
40. The metallic sphere of radius 12 cm is melted into three smaller spheres. If the radii of two 

smaller spheres are 6 cm and 8 cm, the radius of the third sphere is 

(A) 14 cm 

JJilff 10 cm 

(B) 16 cm 

(D) 12 cm 

12 Qs:.L.5. 41JQPmW ~® C:s;rrw ®OOLITQT~ ~®8;.$1 e!j)~.Q)J 81.Q)J a.srrmri.Js;mrra; LDITlDJDLIU@.$1JD~. QP~@ 

@JToo@ C:s;rrmri.Ja;~m 41Jri.Js;m 6 Qs:.t..5. LD!iJ.Q)JLb 8 Qs:.t..5., e!j)~JDrTQJ~ as;rrm~~~ 41JLD 

(A) 14 Qs:.L.5. 

(C) 10 Qs:.L.5. 

(B) 16 Qs:.L.5. 

(D) 12 Qs:.t.O. 

41. A square is inscribed in a circle whose radius is 4 cm. The area of the portion between the 

circle and the square is 

Jilf 16 1Z' -32 cm 2 (B) 32Jr - 27 cm 2 

(C) 20Jr + 11 cm2 (D) l27r - 4 cm2 

4 Qa:.t.O. 41TLD Qs;rrooL ~® QJLLUl!D®m ~® S:~IJLD QJQ>IJUJULI@£,!!)Q~Qf)Q) QJLL~~!D®Lb 

~IJ~~W®LD @Q)LUULL U®~uSl~ UIJU4 

(A) 16 7r -32 Qs:.t..5.2 (B) 321Z'-27Qs:.t.0.2 

(D) 121Z' - 4 Qs:.t..5.2 

42. The perimeter of one face of a cube is 20 cm. Its volume must be 

(A) 215 cm3 

Jilf" 125 cm3 

(A) 215 Qs:.t..5.s 

(C) 125 Qs:.t..5. 3 

17 

(B) 200 cm3 

(D) 8000 cm3 

(B) 200 Qa:.t..5.3 

(D) 8000 Ga:.t..5.3 
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• 43. 22 + 4 2 + 62 + ... + 202 = 

(A) 1155 ~ 1540 

(C) 2310 (D) 385 x 385 

22 + 42 +62 + ··· +202 = 

(A) 1155 (B) 1540 

(C) 2310 (D) 385 x 385 

44. In how many years will a sum of money double itself at 12% per annum for simple interest. 

45. 

(A) 6 years 9 months 

(C) 8 years 3 months 

(A) 6 4oo@s;m 9 LDrri'ira.ia;m 

(C) 8 ~oo@i&m 3 LDrr~ra.ia;m 

H.C.F . of~ 729 6561 
576 , 288, 144 

jlll' 81 
576 

(C) 81 
288 

. 81 729 6561 
~.Qu.QJ. a;rrQ151' : -, -, --

576 288 144 

(A) 
81 
576 

(C) 
81 
288 

LTGS/16 

{B) 7 years 6 months 

JJ1!' 8 years 4 months 

(B) 
81 -
144 

(D) 
81 
72 

(B) 
81 

144 

(D) 
81 
72 
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• 46. The International Decade for Natural Disaster Reduction (IDNDR) declared in the decade 

(A) 1980-1990 , 1990-2000 

(C) 2000-2010 (D) 2010-2020 

(A) 1980-1990 (B) 1990-2000 

(C) 2000-2010 (D) 2010-2020 

47. As per the IUCN Red list 2004, how many plant species were extinct in India? 

(B) 89 

(C) 97 (D) 99 

(A) 87 (B) 89 

(C) 97 (D) 99 

48. Bar Code store information using: 

(A) Punch holes JJllf' Thick and thin lines 

(C) Magnetized spots (D) Bits 

- 19 - LTGS/16 
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49. Who is proved experimentally the existence of the nutrino? • 
(A) Enrico Fermi 

(B) Richard P. Feynman 

(C) Rutherford 

;Jllf Clyde L. Cowan and Frederic Reines 

50. What is the principle involved in Radar? 

~ Radio echoes (B) Radio reflection 

(C) Radio refraction (D) Radio scattering 

51. The radius of the atomic nucleus is 

(A) 10-3 cm (B) 10-10 cm 

~ 10-13 cm (D) 10-15 cm 

(B) 10-10 Ge:.L5. 

(C) 10-13 Ge:.L5. (D) 10-15 Ge:.LE. 
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• 52. Which of the following is an example of condensation polymer? 

Jiii' Nylon 6, 6 

(C) Polypropylene 

(B) Teflon 

(D) Orlon 

(D) 4r'rQ>ITQr 

I 
53. Which among the following angiospermic character is most important ;o differentiate from 

Gymnosperms? 

(A) Presence of vessels in xylem 

(B) Presence of companion cells in phloem 

Jtii'f' Seeds enclosed in fruit 

(D) Flowers with attractive petals 

£wQJ@QJQTQJJD!I)l$ ~st>~ 4~5IGtUrr'1\>Qur'ruSlQ1 @>8l&nb ~hbGmrrwGurruSlQS'l@,!b~ GaJJPILIL (Yli~tU 

Uri.J@) QJ&)M}!D~? 

(A) ,;~u1ru;,f)ro LQrG;TT ®l:Prru:.ie;Qr 

54. What is the name of the inner boundary membrane for the cytoplasm of a plant cell? 

..... ..... 

(A) Plasma membrane iJll/' Tonoplast 

(C) Plasma desmata (D) Nuclear membrane 

(A) '9mrrw111rr c%\J~ 

(C) 
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55. Which one of the following digestive enzymes is present in the saliva? 

(A) Amylase (B) Lipase 

Sfil'/' Ptyalin (D) Trypsin 

(A) ~61lto<!ru'11> 

(C) 61>LUJ~6bl 

(B) ~uGu'11> 

(D) c_rfluOOJ6bl 

56. 'Light rays that pass near the sun will be deflected towards it'. This effect is known as 

Jiii' Einstein effect (B) Doppler effect 

(C) Lorentz effect (D) Fitzgerald effect 

• 

'~if1UJ6nflm &i®.$1Q> Qe:Q>~Lb ~61fl.$a;!i>Q)!Ds;m &i~Ql611T G,(!>rr8i.$l 661ru8is;LDQ)Lu..il.b' - @JI>~ 66161>6TT661m 

GuUJrr 

(A) rem'1t>lf!.m 661m6!TQI 

( C) ru rrgliliur L....'11> 6lSl Ql 61TQj 

57. Middle piece of a sperm contains 

(A) 

(B) 

(C) 

~ 

Nucleus and Mitochondria 

Centriole and Mitochondria 

Nucleus and Centriole 

Mitochondria only 

~® 6lS!Jii~661m LDUIUJ u®~u5lru ll...m6TT~ 

(A) .ifil1Y>BiatlUJ'11> LDJDQ)ILD QlLDLGLrrs;rr~L....iflUJrr 

(B) LITU6TTrT 66161>6!TQj 

(D) o0ot51L....w Q~grrQ>L.... GISlmmQj 

(B) 

(C) 

(D) 

Q~L_ifl<!UJ rrru LO !i> WI Lb Q)LO L.. Gui: t!Drr6Wn..:..tfl UJ rr 

.ifill!d>.$rolUJ'1t> LD!i>Q)!Lb Ge:mL....rflGUJrrru 
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• 58. AM CA stands for 

(A) Advanced Missile Combat Aircraft 

(B) Anti-Missile Combat Aircraft 

~Advanced Medium Combat Aircraft 

(D) Anti-Missile Controlling Aircraft 

(B) ~~a;mQllJT.$@> '1":@f1rr611T ~~rru4 661LDrr611Ttb 

(C) ~UJrr11a; JJJ@~11 "'"~rru4 61SlLDrr6iJ!Lb . 

(D) ~~a;m'1111T.$@) ~~f1rr6iJI a;L.@u@~~Lb 61SlLDrr6altb 

59. The Periyar Tiger Reserve received the National Tiger conservation award on January 20, 

2015. This Reserve is located in 

~ Kerala · (B) Karnataka 

(C) Tamil Nadu (D) Gujarat 

m681QJ~ 20, 2015 ~EiTig11 GurflUJrrrr L.JQS'la;m 8'f1'1111TrrQlUJLb a~.flUJ 4'61a;m urr~a;rrut51.ct>a;rrm 4iilS'l®m~G 

Gu!i>!D§J· .@.fffJ'1111TITQ)UJLO ~ri.J® ~mLDfr,~mm~? 

60. How many foreign satellites are successfully put into orbit by India's PSLVC-23? 

(A) Two 

(C) Four 

(B) Three 

Jlllf'Five 

j}/b~UJ PSLVC-23 6lS}Q8ra;Q>Lb ~~~mm ~.ffi.@UJ Ge:tLJ!i>a>a; aa;rrma;Q)m &ifJ~uurrm~uSlQ> QQJrt>J!5la;11LDrra; 

6}"61Sl u.J ~? 

(A) .@11Q8r@ 

(C) p;rrEiTI® 
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61. Who is the 43rd Chief Justice oflnclia? 

(A) H.L. Dattu 

(C) R.K Mathur 

(A) H.L. p;~~ 

j1I' T.S. Thakur 

(D) A.K. M ukerji 

(B) T.S. !lirr.$Bi1.r'r 

(D) A.K. QPairr~ 

62. Who won Dada Saheb Phalke award in 2016? 

(A) Shashi Kapoor (B) Gulzar 

/Jiff' Manoj Kumar (D) K. Balachander 

(A) efil Sib:J,fr (B) (§Werrfr 

(C) tnamrr~ (§LDrrfr (D) K. urrQle,(iip;fr 

63. Who won Sahitya Academy award in 2015 for the prose "Ilakkya Chuvadugal" in Tamil? 

(A) V. Shanmugam ~A. Madhavan 

(C) A. Malar Mannan (D) T. Ramakrishnan 

(A) V. .!fiiliarQPs;t.0 (B) A. tnrr~6l.J6i!J 

(C) 

LTGS/16 24 
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• 
64. Match the following : 

(a) Rains throughout the year 1. 16°- 20° 

(b) Summer Rains; winter dry 2. 20° -30° 

(c) Light summer rains 3. 7°N to 7°S 

(d) All seasons dry, minimum rains 4. 7° -16° 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 2 3 4 1 

ll1f 3 4 1 2 

(D) 4 1 2 3 

Gurr@~~s; : 

(a) ~Eilr@ QP~QJ~tb LDQ>W 1. 16°-20° 

(b) C51TQ>L LDQ)w; 6UJDEilJrL @aflrTaifTQ)L.i> 2. 20° -30° 

(c) Lhl~LDIT6fl G.$rrQ>L lD61lW ( 3. 7°N to 7°8 

(d) ~Ql6fl~ U®QJriils;&ir ILQ>rr,!i>~. @jGl>JI>Jb~ULc!F LDQ>W 4. 7° -16° 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 2 3 4 1 

(C) 3 4 1 2 

(D) 4 1 2 3 

65. The diameter of solar system is about 

(A) 1143 Crore Kilometers 

(C) 1153 Crore Kilometers 

@!'>rflu.J @@tbuUlQI 6'6lLLLD ~QJQJ'1T~? 

(A) 1143 Cs;rr~ .$1C:Q>rrt.6LLrrs;&ir 

(C) 1153 G&rr~ .$1CQ>rrt.6LLrrm 

25 

(B) 1163 Crore Kilometers 

gJlf"' 1173 Crore Kilometers 

(B) 1163 C5rr~ .$1C:Q>rrt.6L...Lrra;&ir 

(D) 1173 Ca;rr~ .$1CQ>rrt.6L...Lrra;&if 
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66·. The word 'Sangam' in the early History of South India denotes 

~ Academy of learned men 

(B) Assembly of poets . 

(C) Collection of scholarly works 

(D) Scholarly debates 

67. was the chief architect of the state during the regime of Firoz Tughlak. 

(A) Abdul Haq 

(C) Shams-i-siraj 

IJJI/' Malik Ghazi Shahna 

(D) Haji Illiyas 

(B) LO IT QS) .!i; jil!D IT mi S:ITQT IT 

68. In whose regime Nicolo Conti, an Italian visited Vijayanagar Empire? 

(A) Harihara I 

(C) Devaraya I 

(B) Harihara II 

pf' Devaraya II 

• 

UJITQ!>Q)LUJ ~L..61 BilTQ)~~Q> @P>p;ITQ$'1UJ uUJQ!nfl .ffil.$Gs;rrCQ>rr BilT~iq_ 6'1Sl~UJp;BilJ Gurr1Jil!D® 6lSl~UJw 
Gs:LLip;rrrr? 
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• 
69. Consider the following statements and choose the correct answer : 

I. The Ramakrishna mission has drawn all principles and ideals from the life and 
teachings of Swami Ramakrishna. 

II. Swami Ramakrishna founded the Ramakrishna mission. 

~ Only I is true (B) Only II is true 

(C) Both I and II are true (D) Both I and II are false 

£C:~ Qs;rr@B;s;uuL...@mm s;®P,~B;s;61fl6i> 6rrlUJrrQTQJJD68l!D C:~r'r.li;Q~@ 

I. 6i£'l.JITuSl @flrrLO.t1(!9~~rrl6lrr QJITW.$6[h$ LD!D!l)Jtb C:urr~QlQTs;61fl'°1®fr>~ @fl1TLO.il(!9~QlSI" l.OLLOIT61T~ 

Qs;rrQ-r(;S).,;a;Q-r LD!DJJ.lltb a;®~.$s;Q')m GuJb!D~· 

(A) I LOL...@C:LD 6rrlUJrr®tb 

(C) I LDJDJJ.lltb Iltb 6rfl1Urr®tb 

(B) II LOL...@C:LD s:rrlUJrr®tb 

(D) I l.OJDglltD Iltb Jl)QJ!DIT®tD 

70. Who issued the historically important Non-Brahmin manifesto in 1916? 

Jill"" Thiagaraja chettiar (B) Natesa Mudaliar 

(C) Sankaran Nair (D) E.V. Ramasamy Naidu 

(A) ~UJITB;f]"IT~ G6L~UJITrT (B) .15C:L6 QP~'°1UJrrr'r 

(C) 6ri.Ja;f]"m p;rrUJfr (D) r:i:.QQJ. f]"ITLDS:1Tu5l ,!l)1Tli..j@ 

71. The chief of the Lok Sabha (House of People) Secretariat is 

(A) Speaker of the House of people 

(B) Secretary of the House of People 

~Secretary General of the House of people 

(D) Deputy speaker of the Ho~se of people 

(A) LDSis;QTQ>QJ s:urrp;rrUJa;fr (B) LO.$c$QTQ)QJ Gs:UJQ)tl 

(C) LOMQTQ>QJ Qurr~6 Gs:UJQ)IT (D) LDMi'ITQ>QJ ~Q)Qlal" 6UIT.ffilTUJ8iIT 
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• 
72. In which year the National Commission for SC/STs was bifurcated into two commissions 

namely National Commission for SCs and National Commission for STs? 

(A) 1960 

(C) 1980 

(B) 1970 

;Jill!' 1990 

~fr>~ ~9iGT@ Cpj6ltu ~LLQJmQm" o!frr~uSlmfr lDrDIDJW uwr&.i®utuSlQTrr ~Q)Qm"UJLD, .@119iGTLrrs; 

i5liflB;a;uuL..L~? 

(A) 1960 

(C) 1980 

(B) 1970 

(D) 1990 

73. Which of the following Article says that the council of states shall not be subject to 
dissolution? 

Jiii" Article 83 

(C) Article 90 

(A) 6l51~ 83 

(C) 6l51~ 90 

(B) Article 84 

(D) Article 91 

(B) ~~ 84 

(D) 6l51~ 91 

7 4. Which one of the following matching is not correct? 

(A) Held - Model of democracy 

Jlllf Machpherson - Democratic participation 

(C) Lively - Democracy 

(D) Schumpeter - Capitalism, Socialism and Democracy 

(A) Q"1DQ)L.. 

(B) ClDBiUfro!fQy 

(C) @lQi@l 

(D) Giua;woL..Lrr 
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• 
75. List out the chairman of the election commission in the chronological order : 

1. T.S. Krishna Murthy 

2. T.N. Seshan 

3. Sukumar Sen 

4. Smt. V.S. Rama Devi 

~ 3-4-2-1 (B) 4-3-2-1 

(C) 4-3-1-2 (D) 4-1-2-3 

1. ~.6Tw. £®~~ (!Jlr'rp;~ 

2. ~.6TQT.~Qt 

3. Bi@)lDITrT Qs:oit 

4. ~®LD~. 6151.rorw. l]"LDrr <:~6151 

(A) 3-4-2-1 (B) 4-3-2-1 

(C) 4 - 3-1-2 (D) 4-1-2-3 

76. Who formed the first communist party outside Russia in Mexico? 

(A) Karl Marx 

(C) Lenin 

(A) a;rr11Q> LDrrr'r.$Giiu 

(C) QQ)~oit 

Jlllf M.N. Roy 

(D) Stalin 

(B) 6TtD.(;TQT. l)rrtLJ 

(D) WLrrQ$loit 

77. Which of the following Articles relate to the relationship of the President and the Council of 
Ministers? 

(A) 71, 75 and 78 

(C) 73, 75 and 78 

(B) 72, 75 and 78 

~ 74, 75 and 78 

®~IUl]"Si~ ~QlQ)QJrT LDJi>g)ltD ~QllD6'9'1]"QlQJ @)Q:g.$a;~.$@)tD @QlLC:lU 1Uilr6YT ~JD~aiQlQT 6TJb~ LSllfl~a;Ql' 

6151 QJlf)MloiTJD6BT? 

(A) 71, 75 LDJDglltb 78 

(C) 73, 75 LDJDg)ltb 78 

29 

(B) 72, 75 LD!f>g)ltb 78 

(D) 7 4, 75 LDJDg)lt.0 78 
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78. Which country has now emerged as the largest sugar producing country in the world? 

(A) Russia 

Jill" India 

(A) (!9~1L.llT 

(C) ~.ffi~lUIT 

(B) America 

(D) Brazil 

(B) c::!91GlDifl&s;rr 

(D) tSlGg&1Q.i 

• 

79. It was mentioned under which plan "the basic goal is a rapid increase in the standard of 
living of the people" and "again emphasis is placed on the common man, the weaker sections 
and the less privileged" 

(A) First Five Year Plan 

(B) Third Five Year Plan 

Jlilll" Fourth Five Year Plan 

{D) Sixth Five Year Plan 

"IJ).$a;aflar QJIT~& '1'l;,'1>fD c::!91~&lDrr& LlUrr~QJ~ ,,rrar c::!9!11t-LlumL CJbrrutb" LDJi>g,tb Gw~tb "@mQJ 
lflT'11Tfl'81T Qurr~ LDMiir, uQ>QjQTLDrrm QJC§LitSlmiT 1.0Ji:>g,tb @m~it'lmLD dl'°1fl&.5uuL1Tfh LDM(.555rrm~ 
ctr"' QJQSl~g,;,~UJ~" @mQJ 6T.ffi'1 ~L.L~Q) ~~utSlLuuL.@iirm~? 

(A) QP,,Q, mfefDrreisT@ ~L.Ltb 

(B) ~JDITQJ~ mJb'11TaiBr@ ~LLtb 

(C) ,(blTQr51TQJ~ !ijb~rr'81'@ ~l..Ltb 

(D) 4!DITQJ~ m,!b{Drreisr@ ~L.Ltb 

80. The first three plans talked of the setting up of a 

(A) 

JJllf' 
(C) 
{D) 

Mixed economic system 

Socialise pattern of society 

Establishment of a social and economic democracy 

Both (B) and (C) 

QP~ (Y>'ir{I) wrr•@ ~L.Lrila;aflQ) c;rQJJi>d)lar f;)Qrfil>JD ,1£l{l)~QJ~ c;TQT GucJUULLQJ 

(A) 5Q>u4 Qurr®mrr,,rrg QPfil>JD 

(B) lflD'1frlD lfQP{DITUJ;,a>fD ,1£l~~QJ~ 

(C) lf(!Pli lDJDll)lh Qurr®QT1T{DrTfl IDUQTITL.&1m11.J j£1g)l~QJ§ 

(D) (B) LD!i>{l)th (C) @v•@lh 

LTGS/16 30 

www.u
ps

cs
tu

dy
m

at
er

ial
s.c

om



• 
81. Match List I with List II and answer through the codes given below : 

List I List II 

(a) 1911 1. Poona pact 

(b) 1916 2. Cripps Mission 

(c) 1932 3. . Partition of Bengal annulled 

(d) 1942 4. Lucknow pact 

(a) (b) (c) (d) 

(A) 1 3 2 4 

(B) 2 1 3 4 

,3 4 1 2 

(D) 3 4 2 1 

uL_~UJQ> I-Q> ILQrEifTQJ!i>Q)!D uL_~UJ'1> ll-@Lm .«aw GBirr@8iBiuuL_@'1rm ®J6lid@e;'1r (Y)Q)LD Gurr@~~e; : 

UL~IL!Q) I UL~UJQ) II 

(a) 1911 1. ~ti8Trr 9uu.ffi~Li> 

(b) 1916 2. &lrfluw ~~a;®@ 

(c) 1932 3. QJli.Je;rrQT i.Slrfl615!Q>m IJ~~ QsU:..UJuuL_L.~ 

(d) 1942 4. Q)B;Cmrr 9uu.ffi~Li> 

. ' 
(a) (b) (c) (d) 

(A) 1 3 2 4 

(B) 2 1 3 4 

(C) 3 4 1 2 

(D) 3 4 2 1 

82. Who founded an organisation known as 'Rashtriya Swayam Sevak Sangha' to Unite 
Hindus? 

JtllJ' B. Hedgewar (B) Santi Ghosh 

(C) Kalpana Datta (D) Suniti Chowdhary 

@Jbl!MQ)QT@Q)QBTM "l]lT~L"UJ BrQJLO C6QJB;" 6TQT!J) d!Q)lOUQ)U 411Li>i.Sl~QJrr 1Urrrr? 

(A) B. Q~L.8lQJrrir (B) e:rrlb!J Ce;rr~ 

(C) e;Q)umrr "~""" (D) s;Qfl~ s~,,mfl 
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B3. If x : y = 5 : 2 then (Bx+ 9y): (Bx+ 2y) is 

84. 

(A) 22: 29 

Jll!f 29: 22 

(B) 26: 61 

(D) 61: 26 

x: y = 5: 2 ~miru (Bx+ 9y): (Bx+ 2y) "»mu~ 

(A) 22: 29 

(C) 29: 22 

Th I f (835 + 378 + (835 - 378 e va ue o is 
835 x 835 + 378 x 378 

(A) 4 

Jllf 2 

(835 + 378 + (835 - 378 
835 x 835 + 378 x 378 

(A) 4 

(C) 2 

(B) 26: 61 

(D) 61: 26 

(B) 1 

(D) 5 

(B) 1 

(D) 5 

85. If A : B : C = 2 : 3 : 4 then A : B : C is equal to 
B C A 

Jill" 8 : 9 : 24 

(C) 4: 6: 9 

A : B : C = 2 : 3 : 4 ~aflru A : B : C = 
B C A 

(B) 9: 24: 8 

{D) 5: 9: 6 

(A) 8 : 9 : 24 (B) 9 : 24 : 8 

(C) 4 : 6 : 9 (D) 5 : 9 : 6 

• 
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• 
86. a 4 b 15 c2 

- a 2 
• . 

If - = - and - = - then is 
b 5 c 16 c2 + a 2 

1 

77 
(A) (B) 

Jlilf" 7 
25 

(D) 

a 4 . . b 15 ....£1 • c2 
- a2 

• .fl . 
- = - l.OJD!PJLO - = - 6Too11Q) -QT l.OliD'U~ 
b 5 c 16 c2 + a 2 

(A) 

(C) 

1 

17 
7 

25 

(B) 

(D) 

2 

Ta 
5 
7 

2 

Ta 
5 
7 

87. If~ x = 54
, the value of x is 

169 39 

(A) 108 

(C) 2916 

54 ....£1 • • .fl . = - 6Too11Q) X -QT lDliD'U~ 
39 

(A) 108 

(C) 2916 

JJJll" 324 

(D) 4800 

(B) 324 

(D) 4800 

88. In a row of students, the place of Rahul from right is 12th and from left is 4th. How many 
students should be added to make the total number of students 28? 

(A) 14 . ~ 13 

(C) 20 (D) 18 

.$1Q')L QJiflQ')guS)Q) dlLDrT~QrQT LOITQIBTQJrTc!i.nl"1> l]IT~Q> dllDrT,(b§mar j}Ltb QJQ)~~!DuSl®Jb§ 12-QJ,,IT.S~i..0 

@L§l~!DuSl®Jb§ 4-QJ~rrs;~i..O 1L'1Tar§J. 6T;,,,Q')QT lDrr~QJrT5Q')QT <:.Jrr~rrQ> GL.Orr~ . t.0rrQIBTQJrr5'1flm 

6Tsi8rfillf'l5Q>5 28-45 j}~~i..0? 

(A) 14 

(C) 20 

33 

(B) 13 

(D) 18 
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• 
89. 

x 6 x - y 14 . 
If - = - then the value of -- + - is 

2y 7 x + y 19 

'(A) -1 ~l 
2 (D) 

1 
(C) 

7 
118 

x 6 Qf)" x-y 14 . f). - = - ~ Q) --+--QTLD UL.j? 
2y 7 x + y 19 

(A) -1 (B) 1 

(C) 
2 

(D) 
1 

7 
118 

90. The difference between compound interest and simple interest on an amount of Rs. 15,000 
for 2 years is Rs. 96, then the rate of interest per annum is 

(A) 12 VJ( 8 

(C) 6 (D) 10 

(!;. 15,000-.$® 2 QJ®Lril5<ei;&@j il61>L&@jtb BiLL@ QJLLlj-&@jtb. ~Qfl QJLL1j-5@jtb ILQrQT QQJ~Urr@ <!;· 96 

~QflQ>, QJLLlj- Q$1'5tb 46*1"@.$@) 

(A) 12 

(C) 6 

(B) 8 

(D) 10 

91. The C.I. on a sum of money for 2 years at 10% is Rs. 168. Find the simple interest. 

(A) Rs. 150 

~ Rs.160 

(A) ~· 150 

(C) ~· 160 
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• 
92. Which among the following is the different from the others? 

(A) Water~xygen 

(C) Wine- grapes 

(A) $li6'ieTJfr-4.t~~Qi-

. (C) l.O~~l)'ITLQ)c!f 

93. Insert the missing number : 

1, 8, 27, 64, 125, 216, 

/343 

(C) 431 

L516'rQJ(!!)ib ~61iera;QflQ) '6l@uL...L ~•Q)QIBT a;rrQisra; : 

1,8,27,64, 125,216, 

(A) 343 

(C) 431 

Jliltf" Death-disease 

(D) Butter-Milk 

(B) @JDu~--OJDrnu 

(D) QQJ61ierQ~nu-urrru 

(B) 341 

(D) 215 

(B) 341 

(D) 215 

94. What is the volume of a cube whose diagonal measure is 4J3 cm? 

(A) 30 cm3 

(C) 60cm3 

(A) 30 G6.LS. s 

(C) 60 GcJ.LS. 3 

(B) 46cm3 

/s4cm3 

(B) 46 Gs:.LS.3 

(D) 64 GcJ.~.3 
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95. 

96. 

97. 

• 
------is a system program whose job is to control all the computer resources and 

provide a base upon which the application programs can be written 

(A) Application 

(C) Java 

(B) Package 

jilf OS 

a;~~ 6U'1'rrr.1s;6'>ro a;L.@uu@~~~tb uUJmurrL.@ Gl!lmGurr@L.s:.mro ~@~6\J~!f>® ~~~rou:llTs:.~tb 

~mLDlljtb QPm!DmLD GLDmGurr@m 4®tb. 

(A) UUJQrUIT@ 

(C) ~ITQJIT 

------is data that has been summarized or otherwise manipulated for use in 

decision making. 

(A) Facts 

(C) Image data 

(B) Source data 

JJllf Information 

QPllt-~a;mro ~@Liufb!f>a;rra; {b'l~a;mro Bi@~C:UJrr ~Q.>ru~ LDrrd>pSlC:UJrr st.uC:UJrrs;uu@~~tb fb'l~ 

------- ~tb. 

(A) . ~s:.wurr@a;ro 

(C) ULfblJ"~ 

-------is the study of how to create safety, comfort and ease of use for people who 

use machines. 

~ Ergonomics 

(C) DSS 

(B) Industry Commerce 

(D) CII 
.• 

@UJjb~l)"ri.lt$6J>QT UUJQrU@~fbS; 611.lJt.IU in6;s;'1f\63f urr~s;rruy, QJ~ LD!i>g)ltb ~mlfbrTS:. UIUQrU@~ib 

~~;,Ql{b uri>pSlUJ UlJt.U4 4®LD· 

(A) Gfbrr~ib ~w'6huQ.> (B) Q~rr~Q.> QJQDfls;~IUQ.> 

(C) lJt.6Troiu6Teu (D) 6lmm 
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• 
98. The LCM of two numbers is 495 and their HCF is 5. If the sum of the two numbers is 100, 

then find the difference of the two numbers 

""" 10 
(C) 70 

(B) 46 

(D) 90 

@® ~filiBT.g;i;rflQ-r iD . .fl.LD. 495 LDJDWJLb iD.Gu.QJ. 5 ~wit.0aurr~ ...!916i.J6l51® ~filiBT.g;i;rflQ-r Bil.@~'1> 100 ~~ru 

...!916i.J 6lSl (!!) ~ filiBT .g; 6lf1 Q-r 6lSl ~~ lU rr a: Lb ~Q'rQT 7 

(A) 10 

(C) 70 

99. Mauna Loa in Hawai island is the largest 

Jiii" A~tive Volcano 

(C) Extinct Volcano 

(B) 46 

(D) 90 

(B) Dormant Volcano 

(D) Dead Volcano 

100. The Wildlife Crime Control Bureau (WCCB) was constituted under the wildlife protection 

act in the year 

(A) 2006 

(C) 2008 

QJQIT "61'1>rii® QJQ),, p;@uy a;1i9a;tb (WCCB) 

a:i!L;,/)Gn Ui+ dlQ>lDMUUl..L§f. 

(A) 2006 

(C) 2008 

37 

""'2007 

(D) 2009 

(B) 2007 

(D) 2009 
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2016 
GENERAL STUDIES 

(Degree Standard) 
[Maximum Marks : 200 

Read the following instructions carefully before you begin to answer the questions. 

IMPORTANT INSTRUCT10NS 

1. This Booklet has a cover (this page) which should not be opened till the invigilator gives signal to open 
it at the commencement of the examination. As soon as the signal is received you should tear the right 
side of the booklet cover carefully to open the booklet. Then proceed to answer the questions. 

2. This Question Booklet contains 100 questions. Prior to attempting to answer the candidates are 
requested to check whether all the questions are there and ensure there are no blank pages in the 
question book.let. In case any defect in the Question Paper is noticed it shall be reported to the 
Invigilator within first 10 minutes. 

3. Answer all questions. All.questions carry equal marks. 
4. You must write your Register Number in the space provided on the top right side of this page. Do not 

write anything else on the Question Booklet. 
5. You will also encode your Register Number, Subject Code, Question Booklet SL No. etc. with Blue or 

Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode 
properly or fail to encode the above information, action will be taken as per Commission's notification. 

6. Each question comprises four responses (A), (B}, (C) and (D). You are to select ONLY ONE correct 
response and mark in your Answer Sheet. In case you feel that there are more than one correct 
response, mark the response which you consider the best. In any case, choose ONLY ONE response for 
each question. Your total marks will depend on the number of correct responses marked by you in the 
Answer Sheet. 

7. In the Answer Sheet there are four circles @ ,@, @ and @ against each question. To answer the 
questions you are to mark with Ball point pen ONLY ONE circle of your choice for each question. Select 
one response for each question in the Question Booklet and mark in the Answer Sheet. If you mark 
more than one answer for one question, the answer will be treated as wrong. e.g. If for any item, @ is 
the correct answer, you have to mark as follows : 

@•@@ 
8. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take 

this Question Booklet and the Answer Sheet out of the Examination Hall during the examination. 
After the examination is concluded. you must hand over your Answer Sheet to the Inyigilator. You are­
allowed to take the Question Booklet with you only after the Examination is over. 

9. The sheet before the last page of the Question Booklet can be used for Rough Work. 

10. Failure to comply with any of the above instructions will render you liable to such action or penalty as 
the Commission may decide at their discretion. 

11. In all matters and in cases of doubt, the English Version is final. 
12. Do not tick-mark or mark the answers in the Question Booklet. 
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